






























































































































































































































































































































































































































































93.

94.

95.

96.

The value of static x? is zero if and only
if : |
(A)
®)
(©)
D)

0;=E;V;
L0; =XLE,

‘E; is large
All of the above

A coin is tossed 400 times and it turns up
head 216 times. The hypothesis that the
coin is unbiased can be tested by :

(A) x2-test

(B) Z-test

(C) Neither (A) nor (B)

(D) Both (A) and (B)

Degree of freedom is related to-:
(A) No. of observations in a set
(B) Hypothesis under test

(C) No. of independent observations in

a set

(D) None of the above

To test an hypothesis about proportion of

items in a class, the usual test is :
(A) rttest
(B) ZAest
(C) F-test

(D) None of the above
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97. The range of statistic %2 is :

98.

99.

100.

(A) -1to+l
(B)
©

(D)

—ooto+4
Otol ‘
0to o0

The mean and S. D. of a set are 15 and 5
respectively. Then values of Student ¢ is
calculated to test Hy : p =10. If each

sample value is increased by 2, the value
of # will be :

(A) increased

(B) decreased

(C) same

(D) None of the above

Which of the following with usual

notation is not a statistical hypothesis ?

(A) H : People suffering from T. B.
bélongs to the poor section of
society

®B)

©

D)

H:02=0%
H:o} > o}
H:p=p,

A b 285 is used to test
1 1

4] ’— +—
n om

the null hypothesis :

(A) Hy:py+p,=0

B) Hy:py-p,=0

(C) Hg:p =y, (aconstant)
(D) None of the above
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